2017 (8) Roll No:
INTERMEDIATE PART-1 (11" CLASS)

COMPUTER SCIENCE PAPER-1 (NEW SCHEME) (SESSION 2015-2017)
TIME ALLOWED: 2.10 Hours SUBJECTIVE MAXIMUM MARKS: 60

NOTE: - Write same question number and its part number on answer book,

as given in the question paper.

SECTION-I

Q.No.2  Attempt any six parts. ' 6 x2=12

(1) Define the term Information Technology.
(ii) How does Touch Pad work?

(i) Write the purpose of Feasibility Study.

(vl List any two benefits of Computer Network.
{¥) What is meant by Extranet?

(vi)  Define Network Topology.

(vii) How does a Modem Work?

(viii) Define Modulation.

(ix}  What do you know about Internal Modem?

().No.3  Attempt any six parts. 6x2=12

(i) What is E-banking?

(ii) List two uses of Computer in Business.

(iii)  What is Online Education?

(iv)  List four Segment Registers.

(vi  Describe High Level Language.

(vi)  Define Control Unit.

{vil)  What is Stack Pointer Register?

(vitt)  Distinguish between Source Code and Object Code,
(1x)  Who is Hacker?

Q.No.4  Attempt any six parts, G6x2=12

(i) Define Graphical user Interface.

(ii)  Discuss an event of Mouse,

(t1i)  Briefly describe about Word Processar.

(iv)  What is a Header in MS-Word?

(v}  Bnefly write about Alignment in Word.

(vi)  Whatisa Cell Address in MS-Excel?

(vil)  Describe Merge and Centre option in MS-Excel.
(viii)  Why we use an e-mail? Give two reasons.

{ix)  What do vou know about Domain Name?

SECTION-II

NOTE: - Attempt any three questions. IxB8=24
3. What is Software? Describe different types of Software. 24343
b. Define Ring Topology. Explain its warking with diagram also weite down its two advantages

and two disadvantages. 2ET+1+32+32
7. Define Data Communication. Explain its all components in detail, 24541
8. Define Language Translator and explain its types. 2 g i £
4. Define Data Security Threats. Explain any three solutions to these threats, 2+2+2+2
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INTERMEDIATE PART-I (11" CLASS)

COMPUTER SCIENCE PAPER-1 (NEW SCHEME) (SESSION 2015-2017)

TIME ALLOWED: 20 Minutes

OBJECTIVE

MAXIMUM MARKS: 15

Note: You have four choices for each objective tvpe question as A, B, C and D. ‘The choice which you
think is correet, fill that circle in front of that guestion number. Use marker or pen to fill the circles.
Cutting or filling two or more cireles will result in zero mark in that question. Attempt as many questions
4% given in ebjective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.M

(1)

{2)

s
Lil
o

{4)

(3)

(6]

M

(3)

{9

(1)

(1)

(12)

(13)

(14)

(13)

Another name {or main memaory is:-

(A) Primary Memory  (B) Secondary Memory
Testing all program’s component together is:-
{A) Unit testing

(B) System testing (C} Volume testing

The conversion of analog signals vo digital signals is called:-

(A) Switching (B Telecommunicaiion () De-Modulation
The layer of OS] modsl thar compress data is:-
(A) Application (B) Presentation {(C) Session
Unicode represents characiors.

2 4 B
(A) 2 By 2 (Cy 2
An iruportant property of fiber optics 1s:-
(A) Beflection {B) Refraction (C) Interference
CBT is used in:-
(A) Manufacturing  (B) Ferecasting {C) Education
iz not a component of CPLL
(A) RAM (B) ALU (C) CU

The process of finding and removing errors from a program is called:-

(A) Compiling (B) Debupging (C) Linking
The secret code used for protection is called:-
(D) Backup

_ wirus executes on the start of a computer.

(A Macro

(A) Biometric (C) Password

(B File infeclor () Boot sector
List of documents waiting to be printed on printer is called:-
{A) Print list

(B) Print stack {C) Print manager

mode replaces the exisling text

(A) Replage (B} Over type () Insertion
Another name for electronic spread sheet is:-

(A) Workbook (B) Worksheet (C) Document
There are _ types of addressing schemes.

(A) 1 {B) 2 (C) 3

A5(0bj) Y )-2017(5)-400

() Permanent Memory

() Permanent Slorage
() Composite tesiing
(13} De-Mpdulation

(D) Transporl

™) 2

(T») Resonance
{13y Commerce
(D) Registers
(1) Loading
{10} Algorithm
(T2} Solomon
(D) Print queue
(D) Change
(D) Database

(D} 4
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Paper Code 2017 (S) Roll No:

| Number: 2833 ‘ INTERMEDIATE PART-I (117" CLASS)

COMPUTER SCIENCE PAPER-I (NEW SCHEME) (SESSION 2015-2017T)

————

TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 15

Note: You have four choices for ench objeetive type question as A, B, C and D. The choice which yau
think is corvect, fill that circle in front of that question number, Use marker or pen to fill the circles.
Cutling or filling two ar more circles will result in zero mark in that question. Aftempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve guestion on this sheet of OBJECTIVE PAPER.

O.Nao.l
{1 __ made replaces the existing text.

(A) Replace (B) Over type (C) Insertion ([3) Change
(2} Another name for eloctronic spread sheet is:-

{A) Workbook (B) Worksheet (C) Document (D) Database

{3} There are types of addressing schemes.
(A) 1 (B) 2 (c) 3 (I3} 4

(4)  Ancther name for main memory is:-

(A) Primary Memory  (B) Secondary Memory  (C) Permanent Memory (D) Permanent Storage
{3}  Testing all program’s component together is:-

(A) Unit testing (B) System testing (L) Volume testing (1) Composite tesling
(6)  The conversion of analog signuls Lo digital signals is called:-

{A) Switching (B) Telecommunication (C) De-Muodulation (1) De-Modulation
(T} The layer of OS] model that compress data is:-

(A) Application {B) Preseatation (C) Session (D) Transport
(8) Unicode represents  characters.

(&) 2 ®) 2 ©) 2 (D) 2
(9 An impoertant property of fiber optics is:-

{A) Reflection (B} Refraction (C) Interference (I)) Resonance
(10) CBT is used in:-

(4) Manufacturing (B) Forecasting (C) Education (D) Commerce
(11} _ isnotacomponent of CPU.

(A) RAM (B) ALIlJ (C) CU (D) Registers
(12) The process of finding and removing emors from a program is called:-

{A) Compiling {B) Debugging (C) Linking (D) Loading
(13} The secret code used for protection is called:-

{A) Biometric {B) Backup {C) Password (D) Algorithm
(14) wirus executes on the siart of 4 computer.

{A) Macro {B) File infecior (C) Boot sector (D) Solomon

(15) List of documents waiting to be printed on printer is called:-
tA) Print list (B} Print stack {C) Print manager (D} 'nnt queue
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OBJECTIVE
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Mote: You have four choices for each objective type question as A, B, C and D). The choice which you
think is correct, fill that circle in front of that quesfion number, 1se marker or pen to fill the circles.
Cutting or filling two or more circles will resnlt in zero mark in that question, Attempt as many questions
4y given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. De not solve question on this sheet of OBJECTIVE PATER.

Q.No,l
{1} Unicode represents  characters.
(A) 2 (B) 2 (€} 2
(2} An importanl property of fiber optics is-
A Reflection (B) Refraction (C) Interference
{3y OB 18 used 1=
(A) Menufacnring  (B) Forecasting (C) Education
{4) Is not a component of CPLL
(A) RAM (B) ALU (C) CU
(5)  The process of finding and removing errors from a program is called:-
{A) Compiling {B) Debugging (C) Linking
(6)  The seeret code used for protection 15 called;-
(A Bigmetric (B) Backup {C} Password
{7 virus execules on the start of a computer,
(A} Macro {13} File infector (Y Boet seclor
(8)  List of documents waiting o be printed on printer is called:-
() Print list (B Print stack {C) Print msnsgor
(99 mode replaces the existing text.
() Replace {B) Over tvpe {C) [nserlion
(10 Another name for elecironic spread sheet is:-
(A) Workbeok (B) Workshest () Document
(11} Thereae  lypes of addressing schemes,
(A) 1 A 2 ) 3
(12)  Another pame for main memory is:-
(A) Primary Memory  (B) Secondary Memaory  (C) Permanent Memory
(13) lesting all program’s component topether is:-
(A) Unit testing {H) System testing (C) Volume testing
(14} The conversion of analog sipnals 1o digital signals is called.-
(A) Switching (B) Telecommunication () De-Modulation
{153} The layver of OS] mode] that compress data is:-

() Application {B) Presentation () Session

I5(0bi ) TF TE 2E)-2017(8)-400

() 2

(13} Resanance

(1)) Commerce

(1) Repisicrs

(D) Loading

{10y Algorithm

{3} Solomon

(1) Print queus

(D) Change

(1) Datsbase

(D) 4

(D)) Permanent Storage

(D} Composite testing

(D) De-Modulation

(V) Tremsport
(MULTAN)
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Note: You have four choices for each ohjective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number, Use marker or pen to fill the eireles.
Cutting or filling two or more circles will resuli in zero mark in that question. Attempt as muny quesfions
as given in ohjective iype question paper and leave others blank. Nu eredit will be awarded in casc
BUBBLES are not filled. Do not solve question on this sheet of OBJTECTIVE PAPER.

2. No.l
(13 The conversion of analeg signals to digital signals is called:-

{A) Switching (B) Telecommunication (C) De-Modulation
(2} The layer of OS] model that compress dats is:-

(A) Application (B) Presentation (C) Session
{3} Unicode represents  characters.

: 4 '

{(A) 2 (B) 2 {G) 2
{4)  Animportant property of fiber optics is:-

(A) Reflection (B) Retraction (') Interference
(5 CBTis used mn:-

(A} Manufacturing  (B) Forecasting {((7) Education
(8) __ isnotacomponent of CPLL

(A) RaM (B) ALU {C) CU
{7} The process of finding and removing errors from a program is called:-

(A) Compiling (B} Debugging (C) Linking
(8)  The secret code used for protection is called:-

{A) Biometric iB) Backup (C) Password
(9 _ wvirus executes on the start of o computer.

(A} Macro (B3 File infector (Cy Boot sector
(10} List of documents waiting to be printed on printer is called:-

{A) Print list (B} Prinl stack {C) Print manager
(11} _ mode replaces the existing text.

(A) Replace (B) Over type (C) Inscrtion
{12y Another name for electronic spread sheet is:-

{A) Waorkbook {B) Worksheet (C) Documeant
(13) Therears twvpes of addressing schemes.

(A) 1 {B) 2 (C) 3
(14}  Another name for main memoy is.-

(A) Primary Memory  (B) Secondary Memory  (C) Permanent Memory
(15) Testing all program’s component together is:-

{A) Unit wsling (B) 8vslem wsting (C) Valumes testing

(T3} De-Modulation
(D) Transpart

(D) 2

(D} Regonmmes

(D) Commerce

(D)} Hegisters

(1) Loading

(1) Algarilhm

(D) Selomon

(D1 Print quene
(D) Change

(D)) Database

(o) 4

(D)) Permanent Slorape

(D) Composite testing
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NOTE: - Write same yuestion number and its part number on answer hook,

as given in the question paper.

SECTION-I

Q.Nu.2  Attempt any cight parts,

(i) Define Custom Built Software.

(i)  What “Page up” key on keyvhoard does?

(] Write two characreristics of extended graphics array (XGA).

(iv)  Define Extranet.

(v} What is Digital Subscriber Line (DSL)?

fvi)  Give twe functions of session layer of OSI model.

(vil)  Define Digital Signal.

(viii) What is serial transmission of Data?

{1x)  How data is transmitled in Asvnchronous mode of datz transmission?
(x) Whyv Broadband is used?

(x1)  How pirated software is considered the common cause of spreading virus? Explain.
{x11)  What is Data Protection”

Q.No.3  Artempt any eight parts.

{i) Write the functions of ALLL

(i) List some general purpose registers,

(i) What is fetch instruction?

(iv)  How does bus width affect data transter?

(vi  Define DMA.

(vi)  Give some examples of High Level Language.
(vii)  Define Internet Explorer,

(vil) MName some events of Keyhoard.

(ix)  List different features of Windows.

(x)  What do you mean by Editing a Document?
fxi)  Distinguish between Cut and Copy Commands.
(xil)  Define Insertion Point.

Q.Nao.d4  Attempt any six parts,

(1) How computer is beneficial in Stock Exchange?
(i1} Describe the Image Processing Systen.

(i) Whartis Electronic Shopping?

(iv)  Deline the use of Computer in weather forecasting,
(vy  List two benefits of Spread Sheer,

(vi)  Deseribe the use of formula bar in Excel,

(vii)  Discuss the [unclions in Excel.

(vili)  What is Domain Name?

(ix)  Describe the process of Downloading,

SECTION-II

NOTE: - Attempt any three questions of the following:-

3. What is Impact Printer? Discuss different types of Impact Printer.
f.  What is Bus Topology? Explain its working with diagram. Discuss its advantages
and disadvantapes.
7. What is Transmission Mode? Explain its types with example.
&  Whar is ROM? Describe irs three types.
Y. LExplain different causes of Computer Virus,
SECTION-III
1. Attempt any three parts of the following:- (PRACTICAL PART)

(A)  Write the procedure to change the hackground of desktop in Windows.

(BY  Write the procedure to adjust the line and paragraph spacing in MS-Office.
(C)  Write the procedure for adding a2 Warksheet in Workbook.

(D Weite the procedure 1o Right Align the text in MS8-Word,

(E)  Write & procedure for adding {ive numbers using formula.

8§x1=16

E8x2=16

6x2=12

E§=x3=24

35-2017(8)- £~ 7@ (MULTAN)
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[ Paper Code 2017 (8)
Nk 6831 INTERMEDIATE PART-I (11" CLASS)
COMPUTER SCIENCE PAPER-1 (OLD SCHEME)
TIME ALLOWED: 20 Minutes OBJECTIVE

MAXIMUM MARKS: 17

Note: You have four choices for each objective type gquestion as A, B, C and I). The choice which yon
think is correet, fill that circle in front of that question number, Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.Na.l
(1) Printers and monitors ar¢ common forms of:-

(A) [nput units (B} Output units (C) Storage units
(2) Data processing is also known as:-

(A) Accuracy (B) Speed (C} Compuling
(3) The top most layer of OS] model is:-

(A) Application (B) Presentation (C) Session
(4) _ isnolaLAN topology.

(A) Bus (B) Star (C} Mesh
(%)  Select unguided media:-

(A) Twisled pair (B) Co-axial (C) Satellite
(6) The music and speech represents:-

(A) Image (B) Text (C) Numeric
{7) Typically, an ATM can be used to:-

(A) Keep records (B) Withdraw cash  (C) Make budgets
(8) __ typesof lanpuape translators are.

(A) 2 (®B) 3 ©) 4
(9 Computer cannot boot if it does not have:-

(A) Compiler (B) MS5-Word (C) Internet
(10)  The output of compiler is called:-

(A) Linked code (B) Hard code (C) Object code
(11) Animportant characteristic of RAM is:-

(A) Reads only (B) Writes only {C) Valatile
(12) Trojan Horse is a:-

(A)Antivirus (B) Virus (C) Hacker
(13) _ cell address will be included in the range C5 : E7.

(A)CB (B) D6 (C) E4
(14) The length of an IP address is:-

(A) 8 bits (B) 16 bits (C) 24 bits
(15) Many products are designed by using:-

(A) CAD (B) ATM (C) Rabaot
(16} All files deleted from computer are slored in:-

(A) My documents  (B) Recvele bin (C) Contro] panel

(17) In MS-Word, spelling can he checked by:-

{A) FI (B) F3 (C) ES

(D) Processing units

(1) Merging

(12) Transpart

{D) Band

{D) Fiber optic

(D) Audio

(1) Watch movies

(D) 5

(D) Operating System

(D) Source code

(1)) Non Volatile

(D) Hardware

(D) DY

(D) 32 bits

(D) CAM

(D) Sys-tray

(D) F7
35(0bj)(¥X)-201 ?(s;fe‘gﬂ
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 Paper Code 2017 (S) Roll No:
Wi 6833 INTERMEDIATE PART-1 (11" CLASS)

COMPUTER SCIENCE PAPER-I (OLD SCHEME) (SESSION 2012-2014)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each ohjective type question as A, B, C and D. The choice which vou
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling iwo or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER,

).No.1
(1) Many products are designed by using -

(A) CAD (B) ATM (C) Rabat (D) CAM
(2) All files deleted from computer are stored in:-

(A) My documents  (B) Recycle bin (C) Control panel (D) Sys-tray
(3) In MS-Word, spelling can be checked by:-

(A) Fl (B} F3 (C) FS (D) F7
(4) Printers and monitors are common forms of:-

(A} Input units (B) Output units (C) Storage units (D) Processing units
(3) Dala processing is also known as:-

[A) Accuracy (B) Speed {C) Compuling (D) Merging
(6) The top most laver of OSI model is:-

(A) Application (B) Presentation (C) Session (D) Transport
(7) _ is notaLAN topology,

(A) Bus (B) Star (C) Mesh (D) Band
(8) Select unguided media:-

(A) Twisted pair (B) Co-axial (C) Saellite (D) Fiber optic

(9}  The music and speech represents:-
(A) Image (B) Text (C) Numeric (D) Audio
(10) Typically, an ATM can be used to;-
(A} Keep records (B) Withdraw cash  (C) Make budgets (D) Watch movies

(11) ___ typesof language translators are.

(A) 2 (@) 3 (C) 4 (D) 5
(12) Computer cannot boot if it does nat have:-

(A) Compiler (B) MS-Word (C) Internet (D) Operating System
(13} The output of compiler is called:-

(A) Linked code (B) Hard code (C) Object code (D) Source code
(14) Animportant characteristic of RAM is:-

(4) Reads only (B} Writes only (C) Volatile (D) Non Volatile
(15) Trojan Hotse is a:-

(A)Anlivirus (B) Virus (C) Hacker (D) Hardware
(16) _ _ cell address will be included in the range C5 : E7.

(A} CB (B) D6 (C) Ed (D) DY
(17} The length of an [P address is:-

(A) 8 bits (B) 16 bits (C) 24 bits (D) 32 hits
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Note: You have four choices for each objective tvpe question as A, B, C and D. The choice which you
think is correct, fill that cirele in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No 1
(1) The music and specch represents:-

(A) Image (B) Text (C) Numeric (D) Audio
(2) Typically, an ATM can be used to:-

IA) Keep records (B) Withdraw cash  (C) Make budgets (D) Walch movies

(3) __ types of language translators are.

(4) 2 (B) 3 (C) 4 (D) 5
(4} Computer cannot boot if it does not have:-

{A) Compiler (B} MS-Word (C) Internet (D) Operating System
{5) The output of compiler is called:-

(A) Linked code (B) Hard code (C) Object code (D) Source code
(6) An important characteristic of RAM is:-

(A) Reads only (B) Writes only (C) Volatile (D) Non Volatile
(7} Trojan Horse is a:-

(A)Antivirus (B) Virus (Cy Hacker (D) Hardware
(8) _ cell address will be included in the range C5 : E7.

(A)CR (B) D6 (C) E4 (D) D9
{(9) The length of an IP address is:-

{A) 8 hits (B) 16 bits {C) 24 bits (D) 32 bits
(10) Muny products are designed by using:-

(A) CAD (BY ATM (C) Robot (D) CAM
(11) All files deleted from computer are stored in:-

(A) My documents  (B) Recyele bin (C) Control panel () Sys-tray
(12) In MS-Word, spelling can be checked by:-

(A) Fl (B) I3 (CyF3 (D) F7
(13) Printers and monitors are common forms of:-

(A) Input units (B) Qutput units (C) Storage units (D} Processing units
{14) Data processing is also knewn as:-

(A) Accuracy (B) Speed (C} Compuling (D) Merging
(15) The top most layer of OS] modal is:-

(A) Application (B) Presentation (C) Session (D) Transport
(16) __ isnotaLAN topology.

{A) Bus (B} Star (C) Mesh (D) Band
(17} Select unguided media:-

(A) Twisted pair (B) Co-axial (C) Satellite () Fiber optic
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COMPUTER SCIENCE PAPER-1 (OLDSCHEME) (SESSION 2012-2014)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as A, B, C and D, The choice which you
think is corrcet, fill that circle in front of that question number, Use marker or pen to fill the circles.
Cutting or filling two or more cireles will result in zero mark in that guestion. Attempt as many guestions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBEBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q). No.l

(1)  __ isnotaLAN topology.
(A) Bus (B) Star (C) Mesh (D) Band
{2) Select unguided media;-
{A) Twisted pair {B) Co-axial (C) Satellite (D) Fiber optic
{3) The music and speech represents:-
[A) lmage (B) Text (C) Numeric (D} Audio

{4) Typically, an ATM can be used to:-
(/) Keep records (B) Withdraw cash  (C) Make budgets (D) Wateh movies
(3) _ typesoflanguage translators sre.

(A) 2 (B) 3 (C) 4 (D) 5
(6) Computer cannot boot if it does not have:-

(A) Compiler (B) Ms-Word (C}) Internet (D) Operating System
(7)  The output of compiler is called:-

{A) Linked code (B) Hard code (C} Object code (D) Source code
(%) An important characteristic of RAM is:-

(A) Reads only (B) Writes only (C) Volatile (D) Non Volatile
(9 Trojan Horse is a;-

{A)Antivirus (B) Virus {C) Hacker {D) Hardware
(103 _ cell address will be included in the range C5 : E7.

(A) CE (B) D& (C) E4 (D) D9
(11) The length of an [P address is:-

(A) 8 bits (B) 16 bits (C) 24 bits (D) 22 bits
(12) Many produets are designed by using:-

(A)CAD (B) ATM (C) Robot (D) CAM

(13) All files deleted from computer are stored in:-
(A) My documents  (B) Reeyele bin (C) Control panel (D) Sys-tray
(14) In MS-Word, spelling can be checked by:-
{A) Fl (B) F3 (C)F5 (DY F7
(15) Priaters and monitors are common forms of:-
(A) Input units (3} Output units (C) Storage units (D) Processing units
(16)  Data processing 1% also known as:-
(A Accuracy (B) Speed (C) Computing (D) Merging
(17) The top most layer of OSI model is:-

(A) Application (B) Presentation (C) Session (1) 'I'ranaport
35(ObI X X TET)2017(8)- 2 90O (MULTAN)
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